
Projekt:   Werkstückanschlag 

Aufgabe:   Nadelhalterung A und B Pos. 3; 1. Aufspannung

Programmierung: Siemens ShopMill 

Autor:
Klasse:
Datum:

%_N_NADELHALTER_SP1_POS3_MPF
;$PATH=/_N_WKS_DIR/_N_VDW_01_WPD
 

45G 1 .vtkplluN3SOP_1PS_RETLAHLEDAN    5N

Programmkopf
45G 1 VPN : gnubeihcsrevtknuplluN

mm :mmargorP setmaseg rüf tiehnießaM
::liethoR

sba 000.51-    =  0X :1 tknupkcE
sba 000.51-    =  0Y :1 tknupkcE

sba 000.0      =  0Z :1 tknupkcE
 000.51     =  1X : 2 tknupkcE
 000.51     =  1Y : 2 tknupkcE
 000.51-    =  1Z : 2 tknupkcE

Z :eshcaguezkreW
sba 000.02    =  PR :enebesguzkcüR

kni 000.2     =  CS :dnatsbastiehrehciS
fualhcielG ::nnisherdsgnutiebraeB

PR fua ::retsum-.soP guzkcüR
 

N10   T="BNF_4mm" S6000U 

Werkzeug
1D "mm4_FNB" =   T : emanguezkreW
nim/U 0006       =   S : lhazherdlednipS

 

N15   EILG.       Z100

N20   EILG. X-10 Y-18

N25   EILG. Z2

N30   F5000/min Z-2

N35   F800/min Y-18

N40   F5000/min Z-4

N45   F800/min Y18

N50   EILG. Z100

N55   T="NC-ANBOHRER_D6" S8000U 

Werkzeug
1D "6D_RERHOBNA-CN" =   T : emanguezkreW

nim/U 0008       =   S : lhazherdlednipS
 

N60   EILG.       Z100

N65   EILG. X-11.5 Y19

N70   Z2

N75   F5000/min Z-2.5

N80   F600/min Y-19

N85   F5000/min X3ink

N90   F600/min Y19

N95   EILG. Z100

1=NednemmargorP      

1 =   N ::ekcütskreW lhaznA
 



Arbeitsplan: 

Volumenmodell: 


